 (
2. Calculate the interest paid:
S.NO
AMOUNT
AMOUNT WITH INTERE
S
T
INTEREST
1
`
600
`
680
2
`
5000
`
5500
3
`
.956
`
1500
4
`
.678
`
1000
5
`
.723
`
.850
V. 
Multiply the following:    
2x 2 ½ =5
77 x55
2.37 x18
) (
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I. Write the answers: 
       4x1=4
 1. 2x6
2.4x81
3. 2x60
4. 31x9
II.
 
Find the value of the following notes:
 
     4x1=4
1.
5 notes of 
  
`
100
2.10 notes of 
`
 5      
3.
15 notes of 
`
50
4.
14 notes of 
`
2
III. Solve the following:
  
   
3x2=6
1. If a person earns 
`
73 a day, find how much he earns in
a.7 days
b. 6 weeks
 
2.
 Cost of one potato bun is 
`
6. Ram bought 5 buns. He gave 
`
50 to the shopkeeper. How much money should he get back?
3. The cost of 1kg
 of iron is Rs.14. How much will Dinu pay for 32kg iron?
IV. Solve the following: 
       2x3=6
1. Kiran buys  1kg iron for Rs.12, but sells it for Rs.14. How much does she earn when she sells 32 kg iron?
)
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